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The point where the graph intersects (crosses) 
the horizontal axis (x­axis)

The point where the graph intersects (crosses) 
the vertical axis (y­axis)
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a)  What is the vertical intercept? (y ­ intercept)  
     What does this represent? 

b)  What is the horizontal intercept? (x ­ intercept)  
     What does this represent? 

c)  What is the rate of change?  What does this represent?
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a)  What is the horizontal intercept?
      What does this represent?

b)  What is the point of 
       the horizontal intercept?

c)  What is the vertical intercept?
      What does this represent?

d)  What is the point of 
       the vertical intercept?

e)  What is the rate of change?
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x

y

Can you see 
any intercepts?
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x

y

The "y­intercept" is 
the point on the line 
that crosses the"y" axis. 
(vertical axis)

y­intercept = ____________________________
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x

y

The "x­intercept" is 
the point on the line 
that crosses the"x" axis. 
(horizontal axis)

x­intercept = ____________________________
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x­intercept =  ______

(     ,     )

(     ,     )

y­intercept =  ______

y

x
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State the points of the x & y intercepts
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m = Rate of Change  ( Slope )
b = initial amount ( vertical intercept or y­int.)
x = represents the x­axis
y = represents the y­axis

y = mx + b
# #
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Function Notation:
Equation:

y(x) = mx + b
y= mx + b

Can you see the difference
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Let's Take a Closer Look!!

Let x = 6

y = 5x + 2

y = 5(6) + 2
y = 30 + 2
y = 32

y(x) = 5x + 2

y(6) = 5(6) + 2
y(6) = 30 + 2
y(6) = 32
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y = 32 y(4) = 32
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Which graph has a rate of change of 1/2 and a vertical
intercept of 6?  Write the equation for each and the 
Function Notation.
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Which graph has a rate of change of ­5 and a vertical
intercept of 100?  Write the equation for each, and the 
function notation.
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Hint    y­int = initial amount

a )  y = 5x ­ 4

b)  C = 10 + 0.56t

c)  D(h) = ­4h + 200
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Graph the equation y = 3x ­ 2

Slope: _________

y­int: __________
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Graph the function y(x) = ­4x +8

Slope: _________

y­int: __________
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Graph the equation c = 5t ­ 3

Slope: _________

y­int: __________
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